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A-2B 5 TRT712 Fol A
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@x2+2x+2

@ x2-2x+2

@ x> +x+2
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@ 874 @ 1274

@13 7R

n—|—17H0]E]'. oA ((2a-3b)3(2a+
7t 7

® 647

{(2a — 3b)
= {(4a?
= (4a*

" (4a?

3(2a + 3b)3)4

_ 9b2)3}4
_ 9b2)12
~op2)129] o] A5t

1371e]t.




18. (& +ax+2)(x* +bx+2)E ANAS W], 2 3 2] Al+E 50
o] A sh= 44 a, bell st a+ b 2] 327

oW

@ -2 @—1 ®1 @ 2 ®
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@ A=x3-x2+x-2 B=-2x3-x2+3x+7
@ A=x>-x2-x+2, B=-2x3-x>+5x+3
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= -3x% - 24x + 21
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E}-ﬁé}/’gl f(x)E X‘f‘liq'?__ ‘II\F_' () L]'MZ]%RO]E}—I’-?—;}EH,
-3

xf(x) =32 x+ 1% Uhe 2 U427
@® xQ(x),-R-3 @ xQ(x),-R+3
® xQ(x),-R-6 @xQ(x)—}—R, -R-3

® xQ(x) +R,-R+3

B

£(9) = (x+1)0(x) + R

s xf(x) = x(x+ 1)0(x) + xR

coxf(x) =3 =x(x+1)Q(x) + xR —
= (x+1) {x0(x) +(x+1)R R-3
=(x+1){xQ(x) +R} -R-3
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24 -+ 2% +aF ¥+ x+ 12 o] oA ER oh= 5 a
e Fshi?

®-3 @3 ®-6 @6 ® 12

94

24 Lhro] £},
La—-3=0,a=3

B

¥+ x+1=00°] 5= x 3= gt
P+x+1=0°4 (x-1)(x2+x+1)=0,x>-1=0
axd=1

= Ao FHo 2% =1, 2 = —x— 1S Y5t
2x-1+2(-x-1)+a=0,a-3=0

Ta=3
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xof gt ohatA] x% +ax +bx+2 5
x+3°] HEE

> E:

> HE: ab= -6

a, b O #= AL W, ab TS T

¥ —x+ 12 the vejx7h
Fstelet.

~&B

ANAE A

3188 Aot
a=-2,b=3
ab = —6

Pt +hrt2=(F-x+1) A+ (x+3)

A= (x+p)
P ta +bx+2-(x+3)=(*-x+1)(x+p)
Brad+bh-Dx—-1=(EP-x+1)x-1) ~p=-
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S (08 20+ 12 e & (09 Lol k% P

D@ Qox)=24>-x,R=1 @Q(x):2x2+x,R:1
® Q0kx)=2x>-2x,R=1 @Q(x):4x2—2x,R:%

® Q(x)=4x2+2x,R:%

mbA f(x) = 4x3 + 4x2 + x + 1
=x(4x® +4x+1) +1
=x(2x+1)2+1

+1EUFHQO(x) =222 +x, R=1
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G f () B vt g 02 RS W, BT YR AE (), ReHT

gte}. o] o, £ (x) B 3x 4 1 22 W B3 YA S 75hH?

® Q(x), R @ 30(x), 3R ® 30(x), R
1 1
@ gQ(x),R @ gQ(X), §R
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y2) = (ax+by)2°]1 ab# 0L W], o2 Z A5}
AL I2H? (2, BAs BF Agoltt)

® ax+by=0 @ a+b=x+y @24_ =1

o O

S =

B ‘
(@ +b?)(x* +y%) = (ax + by)> = 0=
s] st
a?y? 4+ b*x? — 2abxy = 0
=, (ay-bx)2=0

L ay-bx=0(" a, x, b, y
e, ay = brolA] = = 2




32. x+y+z=1, xy+yz+zx=2, xyz=3 LW, (x+y)(y+2)(z+x)
of ke Fu?

@ -2 @)—1 ® 0 @ 1 ® 2

B

x+y+z=1°4

x+y=1-z2
y+z=1-x
z+x=1-y

(x+y)0+2)(z+x) =(1-2)1-x)(1-y)
=1-(x+y+2) + (xy+yz+2x) — 232
=1-1+2-3=-1




33. T8 % Ao A7 vhea) gre AL mEw?

O Q-x)(1+x+x%)=1-x3

@ (2 +ay + %) (6% —xy +3%) = 2 + %7 + )
@) (x-3)(x-2)(x+ 1)(x+2) = x* 852 412
@ (a-b)(a+b)(a®+b*)(a* +b*) =a® - b®

® (a+b-c)la-—b+c)=a%>-b*-c?+2bc

~&B

(x=3)(x-2)(x+1)(x+2)

(xz—x 6)(x% —x—2)

x? - x=Ye =4

(Y-6)(Y-2)=Y?-8Y +12
=(x2-x)2-8(x2—x) +12
=x*—2x3 —Tx%2 + 8x+ 12
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O (x—y-2)2=x%-y?—22 —2xy + 2y7 — 22x

@ (3x-2y)% = 27x3 — 54x%y + 18xy? — 8y3

® (x+y)(x =) +xy —y*)(x* —xy +y?) = 27 —)°
@D)(x2 —2xy + 2y) (2% + 2xy + 2y?) = x* + 4y*

® (x+y-DE2+y*—xy+2x+2y+1) =2 +y> - 3xy -1

B

@ x-y-2?=x>4+y>+22-2xy+2yz - 22x
@ (3x —2y)? = 27x® — 54x?y + 36xy? — 8y3
@ (x+y)(x =) (¥ + 1y +y*) (x? = xy +?)
— xS
O @x+y-1)(x+y*-xy+x+y+1)
=x3+y3-3xy—-1
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® 8 @ 15 3®)24 @ 36

(x=1)(x+2)(x—-3)(x+4)

=2 +x-2)(x®+x-12)(x® +x = X(A
= (X-2)(X-12)

=X2-14X+24

=(x?+x)? - 14(x* +x)+24
=x*+2x3 - 13x% - 14x + 24
Ca=142-13-14+24=0, b=24
La+b=0+24=24




36. (a+b)(a®>—ab+b*)(a®-1b%) 9 AMA o2 L& 7109

@ a®+b? @ ab + b ((@aﬁ—b6
@ a° +b° ® a-p

(& )= (a® + b3)(a® - b3) = ab - b°




37. P=(2+1D(22+1)(2*+1)(22 +1)(2' 4+ 1) 9] & F5HH?

@232—1 @ 23241 ® 231 -1
@ 2°1+1 ® 217-1

~&B

Fold Aol (2-1)
P=(2-1)(2+1)(2*

=(22-1)(22+1)(24
(24 -1)(2* + 1)(28

=12 5= A AHstER
1)(2* +1)(2° +1)(2'° +1)
D+ 1)(2'6 +1)
1)

1
+
_|_
+1)(21¢ + 1)

= -+ 1)
— 232 -1




38.

(1+2x—3x2 +4x% — 5x* + 6x° + 7x5)2 o] ZA7jAlof|A] &3 o] Al4=E=2

® 0 @ 2 @2 @4 ©G)u




39.

(=2x* + x> + ax+ b)? O] HAINA oA x3 O] A7 -8 W, a—2b 9]
29

AN o) AR YT o\l F, AT 44T
ol 217} 2744 Lhech,

(—2x3 xb) X 2 + (x* X ax) X 2 = (—-4b + 2a)x?

2a—4b = -8

L a—-2b=-4
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5 OFFA] (14 2x 4 3x% +4x3)3, (14 2x + 3x% + 4x3 + 5x1)3 9] &3
N AsE A2 a, b W, a-b°] = F5HH?

@ -21 @ -15 ® -5 @ -1 @0

(14 2x + 3x% + 4x3 + 5x*)3 o] A2 A

x1 O] A= 13 9] Algeh= BAZE fith

m2hA] (14 2x + 3x% 4 4x3)3 o] AZRA A x3 o] A&} (1 +
2x + 3x% + 4x3 + 5x1)3 o] IR A A x3 9] A=
~a=b .. a-b=0
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(10° + 2)7 €] 2} A2l ] 5] Fg Foroder,

@ 15 @18 ® 21 @ 26

B

A& A7Nskd
1015 + 23 + 3 x 2 x 10°(10° + 2)
=10" 4+ 23+ 6x10'° + 12 x 10°
=10 4100 x 6+ 10° x 12 + 8

“14+6+1+2+8=18




42. Al AL abcol Nt a+b+c=2,a°+b>+c? =6, abc = -1
Ao, a3+ b + 2 9 F2?

@1 o1 o601 @u 61

B ~

(a+b+c)?=a®+b?+c3+2(ab + be + ca)
ab+bc+ca=-1

ad+b+c3

= (a+b+c)(a*+b?+ c?—ab - bc - ca) + 3abc
=2x(6-(-1))-3=11
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Al 2429 Aol S a, b, c2F S
2(ab + bc + ca) = 52
dla+b+c)=36 > a+b+c=9
59 2] o))
Y

= /(a+b+c+)?—2(ab + bc + ca)
= V81 -52 = V29
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a+b+c=0, a®>+b*>+c? =14 W, 4(a®b? +b?c? +c%a?) o] 727
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@ @ 3 @1 @ 2 ® 3

o=

B ~

(a+b+c)?=a®+b?+c?+2(ab + be + ca)

1
", ab—i—bc—i—caz—i

4(a®b? + b%c? + c2a?)
= 4{(ab + bc + ca)? — 2abc(a + b + ¢)}

1 2
—“(‘5) =1
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A WA 72, A2, %012 247 a, b, ot AL,
4(a+ b+ c) = 36, 2(ab + bc + ca) = 56
(a+b+c)?=a®+b*+c?+2(ab + bc + ca)
a2+ b%2+c%2=81-56=25
. (H2He) o) = V@ TR T &

25=5
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Al AP E x, y, z2 5Hd

VAZ+y2+ 2 =14 @ol1
BYolE 2(xy + yz + zx) ©I T

®©, @ °flA 222 = 142 + 2(xy + yz + zx)
" 2(xy +yz +2zx) = 288
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® #UstA) sk
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AYlo] © 2xy + 2xz + 2yz = 22
2Ad : dx+4y+4z=24
A d@? = 22 +y% + 22 d= V14
=(x+y+2)?-2(xy+yz+2x)
=62-22=14
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P -x+1=0E x2 U¥xof A st
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